Clark County Public Works - Engineering and Construction Division Clark County, Washington

Pr	oject Name:	Lower Daybreak Park Trail Improvements			ENGINEER	'S ESTIMATE	BIDD	DER #1	BIDD	ER #2	BIDI	DER #3	BIDD	DER #4	BIDD)ER #5
Proi	ect Number:	0000206 (018285)					Nylund, Inc.		Lee Contractor	s. LLC	N.W. Construc		Advanced Exca	•	Thompson Bro	s. Excavating,
-		November 17, 2020					14900 NE 271s	t Ave	20907 NE 72nd		Contracting, In 22317 NE 72nd		Specialists, LL 1010 Columbia		Inc. 18211 NE Four	th Plain Rd
Виор	benning Date.	November 17, 2020							Battle Ground,			WA 98604-4023			Vancouver, WA	
							(360) 4	48-8926	(360) 7	23-5295	(360)	687-2040	(360) 2	32-8854	(360) 2	54-7056
BID ITEM NO.	SPEC. SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		BID PRJ #0000206														
1	1-09.7	MOBILIZATION	L.S.	1	\$20,700.00	\$20,700.00	\$10,000.00	\$10,000.00	\$37,500.00	\$37,500.00	\$5,000.00	\$5,000.00	\$37,500.00	\$37,500.00	\$9,500.00	\$9,500.00
2	1-05.4	REPLACEMENT STAKING SERVICES	HOUR	1	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00
3	1-10	PROJECT TEMPORARY TRAFFIC CONTROL	L.S.	1	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$410.00	\$410.00
4	2-01	CLEARING AND GRUBBING	ACRE	0.8	\$6,100.00	\$4,880.00	\$10,000.00	\$8,000.00	\$20,000.00	\$16,000.00	\$20,000.00	\$16,000.00	\$6,500.00	\$5,200.00	\$1,600.00	\$1,280.00
5	2-03	ROADWAY EXCAVATION INCL. HAUL	C.Y.	870	\$20.00	\$17,400.00	\$25.00	\$21,750.00	\$7.00	\$6,090.00	\$15.00	\$13,050.00	\$30.00	\$26,100.00	\$28.00	\$24,360.00
6	2-03	COMMON BORROW INCL. HAUL	C.Y.	50	\$20.00	\$1,000.00	\$20.00	\$1,000.00	\$30.00	\$1,500.00	\$16.00	\$800.00	\$60.00	\$3,000.00	\$40.00	\$2,000.00
7	4-04	CRUSHED SURFACING BASE COURSE	C.Y.	360	\$90.00	\$32,400.00	\$32.00	\$11,520.00	\$22.00	\$7,920.00	\$50.00	\$18,000.00	\$85.00	\$30,600.00	\$52.00	\$18,720.00
8	4-04	CRUSHED SURFACING TOP COURSE	C.Y.	14	\$80.00	\$1,120.00	\$32.00	\$448.00	\$60.00	\$840.00	\$50.00	\$700.00	\$100.00	\$1,400.00	\$56.00	\$784.00
9	5-04	HMA CL 3/8 IN. PG 58H-22	TON	430	\$120.00	\$51,600.00	\$105.00	\$45,150.00	\$150.00	\$64,500.00	\$115.00	\$49,450.00	\$106.00	\$45,580.00	\$127.00	\$54,610.00
10	5-05	CEMENT CONC. PAVEMENT	C.Y.	20	\$650.00	\$13,000.00	\$300.00	\$6,000.00	\$2,600.00	\$52,000.00	\$500.00	\$10,000.00	\$840.00	\$16,800.00	\$895.00	\$17,900.00
11	7-02	DUCTILE IRON CULV. PIPE 12 IN. DIAM.	L.F.	70	\$120.00	\$8,400.00	\$65.00	\$4,550.00	\$150.00	\$10,500.00	\$75.00	\$5,250.00	\$40.00	\$2,800.00	\$69.00	\$4,830.00
12	8-01	HIGH VISIBILITY SILT FENCE	L.F.	4010	\$4.00	\$16,040.00	\$1.00	\$4,010.00	\$1.00	\$4,010.00	\$4.00	\$16,040.00	\$3.00	\$12,030.00	\$3.00	\$12,030.00
13	8-01	HIGH VISIBILITY FENCE	L.F.	2440	\$3.00	\$7,320.00	\$1.00	\$2,440.00	\$1.00	\$2,440.00	\$4.00	\$9,760.00	\$4.00	\$9,760.00	\$2.75	\$6,710.00
14	8-01	EROSION CONTROL AND WATER POLLUTION PREVENTION	L.S.	1	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
15	8-01	STABILIZED CONSTRUCTION ENTRANCE	S.Y.	74	\$55.00	\$4,070.00	\$70.00	\$5,180.00	\$200.00	\$14,800.00	\$75.00	\$5,550.00	\$25.00	\$1,850.00	\$68.00	\$5,032.00
16	8-01	ESC LEAD	DAY	14	\$55.00	\$770.00	\$100.00	\$1,400.00	\$100.00	\$1,400.00	\$100.00	\$1,400.00	\$70.00	\$980.00	\$50.00	\$700.00
17	8-01	CHECK DAM	L.F.	25	\$10.00	\$250.00	\$50.00	\$1,250.00	\$37.00	\$925.00	\$10.00	\$250.00	\$10.00	\$250.00	\$3.50	\$87.50
18	8-01	WATTLE	L.F.	45	\$7.00	\$315.00	\$25.00	\$1,125.00	\$10.00	\$450.00	\$3.00	\$135.00	\$5.00	\$225.00	\$3.50	\$157.50
19	8-02	SEEDING AND MULCHING	ACRE	0.99	\$5,500.00	\$5,445.00	\$5,500.00	\$5,445.00	\$2,500.00	\$2,475.00	\$6,500.00	\$6,435.00	\$5,200.00	\$5,148.00	\$6,605.00	\$6,538.95
20	8-02	SEEDING AND MULCHING (OLD TRAIL)	ACRE	0.21	\$7,000.00	\$1,470.00	\$5,500.00	\$1,155.00	\$2,500.00	\$525.00	\$6,500.00	\$1,365.00	\$17,500.00	\$3,675.00	\$6,605.00	\$1,387.05
21	8-02	TOPSOIL TYPE A	C.Y.	252	\$70.00	\$17,640.00	\$40.00	\$10,080.00	\$25.00	\$6,300.00	\$65.00	\$16,380.00	\$34.00	\$8,568.00	\$65.00	\$16,380.00
22	8-12	WIRE FENCE TYPE TRAILHEAD	L.F.	44	\$6.50	\$286.00	\$18.00	\$792.00	\$25.00	\$1,100.00	\$50.00	\$2,200.00	\$49.00	\$2,156.00	\$41.35	\$1,819.40
23	8-21	PERMANENT SIGNING (CONSERVATION SIGNS)	L.S.	1	\$6,450.00	\$6,450.00	\$1,500.00	\$1,500.00	\$600.00	\$600.00	\$1,500.00	\$1,500.00	\$120.00	\$120.00	\$6,000.00	\$6,000.00
24	8-22	REMOVING PAINT LINE	L.F.	80	\$5.00	\$400.00	\$20.00	\$1,600.00	\$2.00	\$160.00	\$25.00	\$2,000.00	\$13.00	\$1,040.00	\$11.00	\$880.00
25	8	PARK BENCH	EACH	2	\$1,200.00	\$2,400.00	\$1,500.00	\$3,000.00	\$750.00	\$1,500.00	\$2,000.00	\$4,000.00	\$1,500.00	\$3,000.00	\$2,015.00	\$4,030.00
26	8	TRASH RECEPTACLE AND CAN	EACH	1	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	\$1,700.00	\$1,700.00	\$1,990.00	\$1,990.00
27	8	PICNIC TABLE	EACH	4	\$1,600.00	\$6,400.00	\$2,500.00	\$10,000.00	\$1,800.00	\$7,200.00	\$4,000.00	\$16,000.00	\$3,300.00	\$13,200.00	\$5,500.00	\$22,000.00
28	8	SPLIT RAIL FENCE	L.F.	132	\$8.00	\$1,056.00	\$35.00	\$4,620.00	\$50.00	\$6,600.00	\$45.00	\$5,940.00	\$39.00	\$5,148.00	\$20.05	\$2,646.60
29	8	SEAT WALL BENCH	L.F.	28.75	\$45.00	\$1,293.75	\$175.00	\$5,031.25	\$150.00	\$4,312.50	\$500.00	\$14,375.00	\$265.00	\$7,618.75	\$660.00	\$18,975.00
30	8.00	REMOVABLE BOLLARD	EACH	1	\$800.00	\$800.00	\$800.00	\$800.00	\$750.00	\$750.00	\$1,500.00	\$1,500.00	\$865.00	\$865.00	\$1,030.00	\$1,030.00
			SCHEDULE	A SUBTOTAL		\$227,305.75		\$173,246.25		\$260,597.50		\$228,480.00		\$250,713.75		\$246,688.00
		WASHINGTON S	TATE SALES	TAX at 7.70%		\$17,502.54		\$13,339.96		\$20,066.01		\$17,592.96		\$19,304.96		\$18,994.98
			SCHEDU	JLE A TOTAL		\$244,808.29		\$186,586.21		\$280,663.51		\$246,072.96		\$270,018.71		\$265,682.98

SCHEDUL	E B - BASE	BID #A018285														
31	8-12	WIRE FENCE TYPE PROPERTY LINE	L.F.	450	\$6.50	\$2,925.00	\$12.00	\$5,400.00	\$8.00	\$3,600.00	\$15.00	\$6,750.00	\$10.00	\$4,500.00	\$18.55	\$8,347.50
32	8	PARK RULE SIGN	EACH	1	\$1,200.00	\$1,200.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$2,950.00	\$2,950.00	\$1,280.00	\$1,280.00
33	8	INTERPRETIVE SIGN	EACH	3	\$2,000.00	\$6,000.00	\$700.00	\$2,100.00	\$500.00	\$1,500.00	\$2,500.00	\$7,500.00	\$2,900.00	\$8,700.00	\$1,140.00	\$3,420.00
			SCHEDULE B	SUBTOTAL		\$10,125.00		\$9,000.00		\$5,600.00		\$15,750.00		\$16,150.00		\$13,047.50
		WASHINGTON ST	ATE SALES T	AX at 7.70%	_	\$779.63		\$693.00	_	\$431.20		\$1,212.75		\$1,243.55		\$1,004.66
			SCHEDU	LE B TOTAL		\$10,904.63		\$9,693.00		\$6,031.20		\$16,962.75		\$17,393.55		\$14,052.16

Clark County Public Works - Engineering and Construction Division Clark County, Washington

•	Project Name: Lower Daybreak Park Trail Improvements			ENGINEER	'S ESTIMATE	BIDDI	ER #1	BIDD	DER #2	BIDD	ER #3	BIDDE	R #4	BIDD	ER #5
Pro	roject Number: 0000206 (018285)					Nylund, Inc.		Lee Contractor	s, LLC	N.W. Constructi Contracting, Inc		Advanced Excava Specialists, LLC	ating	Thompson Bros	s. Excavating,
Bid O	Opening Date: November 17, 2020					14900 NE 271st	Ave	20907 NE 72nd	Ave	22317 NE 72nd		1010 Columbia B	lvd	Inc. 18211 NE Fourt	h Plain Rd
2.4 0						Brush Prairie, W			WA 98604-5227			Longview, WA 98		Vancouver, WA	
						(360) 44	18-8926	(360) 7	23-5295	(360) 68	87-2040	(360) 232	2-8854	(360) 2	54-7056
BID ITEM NO.	A SPEC. DESCRIPTION	UNIT	QUANTIT	TY UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
					¢007 400 75		\$400 040 OF		\$000 407 F0		¢044.000.00		¢000 000 75		¢050 705 5
		BASE BID (Schedule A + I	•		\$237,430.75		\$182,246.25		\$266,197.50		\$244,230.00		\$266,863.75	,	\$259,735.5
		WASHINGTON STATE SAL			\$18,282.17		\$14,032.96		\$20,497.21		\$18,805.71		\$20,548.51		\$19,999.6
		BASE BID (Schedule	A + B) 101/	AL	\$255,712.92		\$196,279.21		\$286,694.71		\$263,035.71		\$287,412.26		\$279,735. <i>*</i>
CHEDUL	ILE C - ADDITIVE 1 PRJ #0000206														
34	1-09.7 MOBILIZATION	L.S	. 1	\$2,600.00	\$2,600.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.
35	1-05.4 REPLACEMENT STAKING SERVICES	HOU		-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.
36	2-01 CLEARING AND GRUBBING	ACR		\$6,100.00	\$1,830.00	\$10,000.00	\$3,000.00	\$18,000.00	\$5,400.00	\$20,000.00	\$6,000.00	\$7,000.00	\$2,100.00	\$1,600.00	\$480.
37	2-03 ROADWAY EXCAVATION INCL. HAUL	C.Y		\$20.00	\$4,400.00	\$25.00	\$5,500.00	\$7.00	\$1,540.00	\$20.00	\$4,400.00	\$30.00	\$6,600.00	\$28.00	\$6,160.
38	4-04 CRUSHED SURFACING BASE COURSE	C.Y		\$90.00	\$9,000.00	\$32.00	\$3,200.00	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$85.00	\$8,500.00	\$52.00	\$5,200.
39	4-04 CRUSHED SURFACING TOP COURSE	C.Y		\$80.00	\$4,000.00	\$32.00	\$1,600.00	\$60.00	\$3,000.00	\$50.00	\$2,500.00	\$105.00	\$5,250.00	\$56.00	\$2,800.
40	8-01 HIGH VISIBILITY SILT FENCE	L.F.		\$4.00	\$3,560.00	\$1.00	\$890.00	\$1.00	\$890.00	\$4.00	\$3,560.00	\$3.00	\$2,670.00	\$3.00	\$2,670.
41	8-01 HIGH VISIBILITY FENCE	L.F.		\$3.00	\$1,800.00	\$1.00	\$600.00	\$1.00	\$600.00	\$4.00	\$2,400.00	\$4.00	\$2,400.00	\$2.75	\$1,650.
42	8-01 ESC LEAD	DAY		\$60.00	\$120.00	\$100.00	\$200.00	\$100.00	\$200.00	\$100.00	\$200.00	\$70.00	\$140.00	\$50.00	\$100.
43	8-01 SEEDING AND MULCHING	ACR		\$5,500.00	\$770.00	\$5,500.00	\$770.00	\$6,600.00	\$924.00	\$6,500.00	\$910.00	\$6,700.00	\$938.00	\$6,605.00	\$924.
44	8-02 TOPSOIL TYPE A	C.Y		\$70.00	\$3,780.00	\$40.00	\$2,160.00	\$25.00	\$1,350.00	\$65.00	\$3,510.00	\$34.00	\$1,836.00	\$65.50	\$3,537.
			LE C SUBTOT		\$31,760.00	\$40.00	\$22,820.00	\$25.00	\$22,804.00	\$00.00	\$30,880.00	\$34.00	\$31,334.00	905.50¢	\$24,421.
		WASHINGTON STATE SAL			\$2,445.52		\$1,757.14		\$1,755.91		\$2,377.76		\$2,412.72		\$1,880.
			EDULE C TOT	-	\$34,205.52	-	\$24,577.14		\$24,559.91	-	\$33,257.76		\$33,746.72	-	\$26,302.
		Schedule A + B +			\$269,190.75		\$205,066.25		\$289,001.50		\$275,110.00		\$298,197.75		\$284,157.2
		WASHINGTON STATE SAL			\$20,727.69		\$15,790.10		\$22,253.12		\$21,183.47		\$22,961.23		\$21,880.
		Schedule A +	B + C TOT	AL	\$289,918.44		\$220,856.35		\$311,254.62		\$296,293.47		\$321,158.98		\$306,037.3
CHEDUL	ILE D - ADDITIVE 2 PRJ #0000206														
		Ls	. 1	\$3,800.00	\$3,800.00	\$5,000.00	\$5,000.00	\$4.500.00	\$4.500.00	\$5.000.00	\$5.000.00	\$1.000.00	\$1.000.00	\$1.000.00	\$1,000.
45	1-09.7 MOBILIZATION	L.S HOU		\$3,800.00	\$3,800.00	. ,	\$5,000.00 -\$100.00	. ,	\$4,500.00 -\$100.00	. ,	\$5,000.00	\$1,000.00	\$1,000.00		
45 46	1-09.7 MOBILIZATION 1-05.4 REPLACEMENT STAKING SERVICES	HOU	R 1	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.
45	1-09.7 MOBILIZATION		R 1 E 0.3	. ,	. ,	. ,	. ,	. ,	. ,	. ,	. ,	. ,	. ,		-\$100. \$480.
45 46 47	1-09.7 MOBILIZATION 1-05.4 REPLACEMENT STAKING SERVICES 2-01 CLEARING AND GRUBBING	HOU	R 1 E 0.3 . 330	-\$100.00 \$6,100.00	-\$100.00 \$1,830.00	-\$100.00 \$10,000.00	-\$100.00 \$3,000.00	-\$100.00 \$18,000.00	-\$100.00 \$5,400.00	-\$100.00 \$20,000.00	-\$100.00 \$6,000.00	-\$100.00 \$7,000.00	-\$100.00 \$2,100.00	-\$100.00 \$1,600.00	-\$100. \$480. \$9,240.
45 46 47 48	1-09.7 MOBILIZATION 1-05.4 REPLACEMENT STAKING SERVICES 2-01 CLEARING AND GRUBBING 2-03 ROADWAY EXCAVATION INCL. HAUL	HOU ACR C.Y	R 1 E 0.3 . 330 . 10	-\$100.00 \$6,100.00 \$20.00	-\$100.00 \$1,830.00 \$6,600.00	-\$100.00 \$10,000.00 \$25.00	-\$100.00 \$3,000.00 \$8,250.00	-\$100.00 \$18,000.00 \$7.00	-\$100.00 \$5,400.00 \$2,310.00	-\$100.00 \$20,000.00 \$20.00	-\$100.00 \$6,000.00 \$6,600.00	-\$100.00 \$7,000.00 \$30.00	-\$100.00 \$2,100.00 \$9,900.00	-\$100.00 \$1,600.00 \$28.00	-\$100. \$480. \$9,240. \$400.
45 46 47 48 49	1-09.7 MOBILIZATION 1-05.4 REPLACEMENT STAKING SERVICES 2-01 CLEARING AND GRUBBING 2-03 ROADWAY EXCAVATION INCL. HAUL 2-03 COMMON BORROW INCL. HAUL	HOU ACR C.Y	R 1 E 0.3 . 330 . 10 . 90	\$100.00 \$6,100.00 \$20.00 \$20.00	-\$100.00 \$1,830.00 \$6,600.00 \$200.00	-\$100.00 \$10,000.00 \$25.00 \$20.00	-\$100.00 \$3,000.00 \$8,250.00 \$200.00	-\$100.00 \$18,000.00 \$7.00 \$50.00	-\$100.00 \$5,400.00 \$2,310.00 \$500.00	-\$100.00 \$20,000.00 \$20.00 \$50.00	-\$100.00 \$6,000.00 \$6,600.00 \$500.00	-\$100.00 \$7,000.00 \$30.00 \$70.00	-\$100.00 \$2,100.00 \$9,900.00 \$700.00	-\$100.00 \$1,600.00 \$28.00 \$40.00 \$52.00	-\$100. \$480. \$9,240. \$400. \$4,680.
45 46 47 48 49 50	1-09.7 MOBILIZATION 1-05.4 REPLACEMENT STAKING SERVICES 2-01 CLEARING AND GRUBBING 2-03 ROADWAY EXCAVATION INCL. HAUL 2-03 COMMON BORROW INCL. HAUL 4-04 CRUSHED SURFACING BASE COURSE	HOU ACR C.Y C.Y C.Y	R 1 E 0.3 . 330 . 10 . 90 . 4	-\$100.00 \$6,100.00 \$20.00 \$20.00 \$20.00	-\$100.00 \$1,830.00 \$6,600.00 \$200.00 \$8,100.00	-\$100.00 \$10,000.00 \$25.00 \$20.00 \$32.00	-\$100.00 \$3,000.00 \$8,250.00 \$200.00 \$2,880.00	-\$100.00 \$18,000.00 \$7.00 \$50.00 \$50.00	-\$100.00 \$5,400.00 \$2,310.00 \$500.00 \$4,500.00	-\$100.00 \$20,000.00 \$20.00 \$50.00 \$50.00	-\$100.00 \$6,000.00 \$6,600.00 \$500.00 \$4,500.00	-\$100.00 \$7,000.00 \$30.00 \$70.00 \$85.00	-\$100.00 \$2,100.00 \$9,900.00 \$700.00 \$7,650.00	-\$100.00 \$1,600.00 \$28.00 \$40.00 \$52.00	-\$100. \$480. \$9,240. \$400. \$4,680. \$224.
45 46 47 48 49 50 51	1-09.7 MOBILIZATION 1-05.4 REPLACEMENT STAKING SERVICES 2-01 CLEARING AND GRUBBING 2-03 ROADWAY EXCAVATION INCL. HAUL 2-03 COMMON BORROW INCL. HAUL 4-04 CRUSHED SURFACING BASE COURSE 4-04 CRUSHED SURFACING TOP COURSE	HOU ACR C.Y C.Y C.Y	R 1 E 0.3 . 330 . 10 . 90 . 4 . 1560	-\$100.00 \$6,100.00 \$20.00 \$20.00 \$90.00 \$80.00 \$4.00	-\$100.00 \$1,830.00 \$6,600.00 \$200.00 \$8,100.00 \$3,20.00	-\$100.00 \$10,000.00 \$25.00 \$20.00 \$32.00 \$32.00	-\$100.00 \$3,000.00 \$8,250.00 \$200.00 \$2,880.00 \$128.00	-\$100.00 \$18,000.00 \$7.00 \$50.00 \$50.00 \$600.00	-\$100.00 \$5,400.00 \$2,310.00 \$500.00 \$4,500.00 \$2,400.00	-\$100.00 \$20,000.00 \$50.00 \$50.00 \$50.00	-\$100.00 \$6,000.00 \$6,600.00 \$500.00 \$4,500.00 \$200.00	-\$100.00 \$7,000.00 \$30.00 \$70.00 \$85.00 \$104.00	-\$100.00 \$2,100.00 \$9,900.00 \$700.00 \$7,650.00 \$416.00	-\$100.00 \$1,600.00 \$28.00 \$40.00 \$52.00 \$56.00	-\$100. \$480. \$9,240. \$400. \$4,680. \$224. \$4,680.
45 46 47 48 49 50 51 51 52	1-09.7 MOBILIZATION 1-05.4 REPLACEMENT STAKING SERVICES 2-01 CLEARING AND GRUBBING 2-03 ROADWAY EXCAVATION INCL. HAUL 2-03 COMMON BORROW INCL. HAUL 4-04 CRUSHED SURFACING BASE COURSE 4-04 CRUSHED SURFACING TOP COURSE 8-01 HIGH VISIBILITY SILT FENCE	HOU ACR C.Y C.Y C.Y L.F.	R 1 E 0.3 . 330 . 10 . 90 . 4 . 1560 . -1300	-\$100.00 \$6,100.00 \$20.00 \$20.00 \$90.00 \$80.00 \$4.00	-\$100.00 \$1,830.00 \$6,600.00 \$200.00 \$8,100.00 \$320.00 \$6,240.00	-\$100.00 \$10,000.00 \$25.00 \$20.00 \$32.00 \$32.00 \$1.00	-\$100.00 \$3,000.00 \$8,250.00 \$200.00 \$2,880.00 \$1,280.00 \$1,560.00	-\$100.00 \$18,000.00 \$7.00 \$50.00 \$50.00 \$600.00 \$1.00	-\$100.00 \$5,400.00 \$2,310.00 \$500.00 \$4,500.00 \$2,400.00 \$1,560.00	-\$100.00 \$20,000.00 \$50.00 \$50.00 \$50.00 \$4.00	-\$100.00 \$6,000.00 \$6,600.00 \$500.00 \$4,500.00 \$200.00 \$6,240.00	-\$100.00 \$7,000.00 \$30.00 \$70.00 \$85.00 \$104.00 \$3.00	-\$100.00 \$2,100.00 \$9,900.00 \$700.00 \$7,650.00 \$416.00 \$4,680.00	-\$100.00 \$1,600.00 \$28.00 \$40.00 \$52.00 \$56.00 \$3.00 \$2.75	-\$100. \$480. \$9,240. \$400. \$4,680. \$224. \$4,680. -\$3,575.
45 46 47 48 49 50 51 51 52 53	1-09.7 MOBILIZATION 1-05.4 REPLACEMENT STAKING SERVICES 2-01 CLEARING AND GRUBBING 2-03 ROADWAY EXCAVATION INCL. HAUL 2-03 COMMON BORROW INCL. HAUL 4-04 CRUSHED SURFACING BASE COURSE 4-04 CRUSHED SURFACING TOP COURSE 8-01 HIGH VISIBILITY SILT FENCE 8-01 HIGH VISIBILITY FENCE	HOU ACR C.Y C.Y C.Y C.Y L.F.	R 1 E 0.3 . 330 . 10 . 90 . 4 . 1560 . -1300 . 2	-\$100.00 \$6,100.00 \$20.00 \$20.00 \$90.00 \$80.00 \$4.00 \$3.00	-\$100.00 \$1,830.00 \$6,600.00 \$200.00 \$8,100.00 \$320.00 \$6,240.00 -\$3,900.00	-\$100.00 \$10,000.00 \$25.00 \$32.00 \$32.00 \$32.00 \$1.00 \$1.00	-\$100.00 \$3,000.00 \$8,250.00 \$2,880.00 \$2,880.00 \$128.00 \$1,560.00 -\$1,300.00	-\$100.00 \$18,000.00 \$7.00 \$50.00 \$50.00 \$600.00 \$1.00 \$20.00	-\$100.00 \$5,400.00 \$2,310.00 \$500.00 \$4,500.00 \$2,400.00 \$1,560.00 -\$26,000.00	-\$100.00 \$20,000.00 \$50.00 \$50.00 \$50.00 \$4.00 \$4.00	-\$100.00 \$6,000.00 \$500.00 \$4,500.00 \$4,500.00 \$200.00 \$6,240.00 -\$5,200.00	-\$100.00 \$7,000.00 \$30.00 \$70.00 \$85.00 \$104.00 \$3.00 \$4.00	-\$100.00 \$2,100.00 \$9,900.00 \$7,650.00 \$4,650.00 \$4,680.00 -\$5,200.00 \$140.00	-\$100.00 \$1,600.00 \$28.00 \$40.00 \$52.00 \$56.00 \$3.00 \$2.75 \$50.00	-\$100. \$480. \$9,240. \$400. \$4,680. \$224. \$4,680. \$224. \$4,680. -\$3,575. \$100.
45 46 47 48 49 50 51 52 53 53 54	1-09.7 MOBILIZATION 1-05.4 REPLACEMENT STAKING SERVICES 2-01 CLEARING AND GRUBBING 2-03 ROADWAY EXCAVATION INCL. HAUL 2-03 COMMON BORROW INCL. HAUL 4-04 CRUSHED SURFACING BASE COURSE 4-04 CRUSHED SURFACING TOP COURSE 8-01 HIGH VISIBILITY SILT FENCE 8-01 HIGH VISIBILITY FENCE 8-01 ESC LEAD	HOU ACR C.Y C.Y C.Y C.Y L.F. L.F. DAY	R 1 E 0.3 . 330 . 10 . 90 . 4 . 1560 . -1300 / 2 E .41	-\$100.00 \$6,100.00 \$20.00 \$20.00 \$90.00 \$80.00 \$4.00 \$3.00 \$55.00	-\$100.00 \$1,830.00 \$6,600.00 \$200.00 \$8,100.00 \$320.00 \$6,240.00 -\$3,900.00 \$110.00	-\$100.00 \$10,000.00 \$25.00 \$32.00 \$32.00 \$32.00 \$1.00 \$1.00 \$1.00	-\$100.00 \$3,000.00 \$8,250.00 \$2,880.00 \$1,880.00 \$128.00 \$1,560.00 -\$1,300.00 \$200.00	-\$100.00 \$18,000.00 \$7.00 \$50.00 \$50.00 \$600.00 \$1.00 \$20.00 \$90.00	-\$100.00 \$5,400.00 \$2,310.00 \$500.00 \$4,500.00 \$2,400.00 \$1,560.00 -\$26,000.00 \$180.00	-\$100.00 \$20,000.00 \$50.00 \$50.00 \$50.00 \$50.00 \$4.00 \$4.00 \$100.00	-\$100.00 \$6,000.00 \$500.00 \$4,500.00 \$200.00 \$6,240.00 -\$5,200.00 \$200.00	-\$100.00 \$7,000.00 \$30.00 \$70.00 \$85.00 \$104.00 \$3.00 \$4.00 \$70.00	-\$100.00 \$2,100.00 \$9,900.00 \$7,650.00 \$4,680.00 -\$5,200.00	-\$100.00 \$1,600.00 \$28.00 \$40.00 \$52.00 \$56.00 \$3.00 \$2.75 \$50.00	-\$100. \$480. \$9,240. \$4,680. \$224. \$4,680. -\$3,575. \$100. \$2,708.
45 46 47 48 49 50 51 51 52 53 53 54 55	1-09.7 MOBILIZATION 1-05.4 REPLACEMENT STAKING SERVICES 2-01 CLEARING AND GRUBBING 2-03 ROADWAY EXCAVATION INCL. HAUL 2-03 COMMON BORROW INCL. HAUL 4-04 CRUSHED SURFACING BASE COURSE 4-04 CRUSHED SURFACING TOP COURSE 8-01 HIGH VISIBILITY SILT FENCE 8-01 ESC LEAD 8-01 SEEDING AND MULCHING	HOU ACR C.Y C.Y C.Y L.F. L.F. DAY ACR	R 1 E 0.3 . 330 . 10 . 90 . 4 . 1560 . -1300 . 2 E .41 . 148	-\$100.00 \$6,100.00 \$20.00 \$20.00 \$90.00 \$80.00 \$80.00 \$4.00 \$3.00 \$55.00 \$55.00	-\$100.00 \$1,830.00 \$6,600.00 \$200.00 \$8,100.00 \$320.00 \$6,240.00 \$6,240.00 -\$3,900.00 \$110.00 \$2,255.00	-\$100.00 \$10,000.00 \$225.00 \$32.00 \$32.00 \$1.00 \$1.00 \$1.00 \$100.00 \$5,500.00	-\$100.00 \$3,000.00 \$8,250.00 \$2,880.00 \$1,280.00 \$1,560.00 -\$1,300.00 \$200.00 \$2,255.00	-\$100.00 \$18,000.00 \$7.00 \$50.00 \$600.00 \$1.00 \$20.00 \$90.00 \$6,600.00	-\$100.00 \$5,400.00 \$2,310.00 \$500.00 \$4,500.00 \$1,560.00 -\$26,000.00 \$180.00 \$2,706.00	-\$100.00 \$20,000,00 \$20,000 \$50.00 \$50.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$100.00	-\$100.00 \$6,000.00 \$500.00 \$4,500.00 \$200.00 \$6,240.00 -\$5,200.00 \$200.00 \$2,665.00	-\$100.00 \$7,000.00 \$30.00 \$70.00 \$85.00 \$104.00 \$3.00 \$4.00 \$70.00 \$5,200.00	-\$100.00 \$2,100.00 \$9,900.00 \$7,650.00 \$416.00 \$4,680.00 -\$5,200.00 \$140.00 \$2,132.00	-\$100.00 \$1,600.00 \$28.00 \$40.00 \$52.00 \$56.00 \$3.00 \$2.75 \$50.00 \$6,605.00	-\$100. \$480. \$9,240. \$4,680. \$224. \$4,680. -\$3,575. \$100. \$2,708. \$9,694.
45 46 47 48 49 50 51 52 53 53 54 55 55 56	1-09.7 MOBILIZATION 1-05.4 REPLACEMENT STAKING SERVICES 2-01 CLEARING AND GRUBBING 2-03 ROADWAY EXCAVATION INCL. HAUL 2-03 COMMON BORROW INCL. HAUL 4-04 CRUSHED SURFACING BASE COURSE 4-04 CRUSHED SURFACING TOP COURSE 8-01 HIGH VISIBILITY SILT FENCE 8-01 HIGH VISIBILITY FENCE 8-01 SEEDING AND MULCHING 8-02 TOPSOIL TYPE A	HOU ACR C.Y C.Y C.Y L.F. L.F. DAN ACR C.Y NS) L.S	R 1 E 0.3 . 330 . 10 . 90 . 4 . 1560 . -1300 . 2 E .41 . 148	-\$100.00 \$6,100.00 \$20.00 \$20.00 \$90.00 \$80.00 \$4.00 \$3.00 \$55.00 \$55.00 \$55,500.00 \$5,500.00	-\$100.00 \$1,830.00 \$6,600.00 \$200.00 \$8,100.00 \$320.00 \$6,240.00 -\$3,900.00 \$110.00 \$2,255.00 \$10,360.00	-\$100.00 \$10,000.00 \$25.00 \$32.00 \$32.00 \$1.00 \$1.00 \$100.00 \$5,500.00 \$40.00	-\$100.00 \$3,000.00 \$8,250.00 \$2,880.00 \$1,280.00 \$1,560.00 -\$1,300.00 \$2,255.00 \$5,920.00	-\$100.00 \$18,000.00 \$7.00 \$50.00 \$600.00 \$1.00 \$20.00 \$90.00 \$6,600.00 \$25.00	-\$100.00 \$5,400.00 \$2,310.00 \$500.00 \$4,500.00 \$1,560.00 -\$26,000.00 \$180.00 \$2,706.00 \$3,700.00	-\$100.00 \$20,000,00 \$20,000 \$50,000 \$50,000 \$4.000 \$4.000 \$100,000 \$6,500,000 \$65,000	-\$100.00 \$6,000.00 \$500.00 \$4,500.00 \$200.00 \$6,240.00 -\$5,200.00 \$200.00 \$2,665.00 \$9,620.00	-\$100.00 \$7,000.00 \$30.00 \$70.00 \$85.00 \$104.00 \$3.00 \$4.00 \$70.00 \$5,200.00 \$34.00	-\$100.00 \$2,100.00 \$9,900.00 \$7,650.00 \$416.00 \$4,680.00 -\$5,200.00 \$140.00 \$2,132.00 \$5,032.00	-\$100.00 \$1,600.00 \$28.00 \$40.00 \$52.00 \$56.00 \$3.00 \$2.75 \$50.00 \$6,605.00 \$6,605.00	-\$100. \$480. \$9,240. \$4,680. \$224. \$4,680. -\$3,575. \$100. \$2,708. \$9,694. \$5,060.
45 46 47 48 49 50 51 52 53 53 54 55 55 56	1-09.7 MOBILIZATION 1-05.4 REPLACEMENT STAKING SERVICES 2-01 CLEARING AND GRUBBING 2-03 ROADWAY EXCAVATION INCL. HAUL 2-03 COMMON BORROW INCL. HAUL 4-04 CRUSHED SURFACING BASE COURSE 4-04 CRUSHED SURFACING TOP COURSE 8-01 HIGH VISIBILITY SILT FENCE 8-01 HIGH VISIBILITY FENCE 8-01 SEEDING AND MULCHING 8-02 TOPSOIL TYPE A	HOU ACR C.Y C.Y C.Y L.F. L.F. DAN ACR C.Y NS) L.S	R 1 E 0.3 . 330 . 10 . 90 . 4 . 1560 . -1300 ? 2 E .41 . 148 . 1 LE D SUBTOT	 \$100.00 \$6,100.00 \$20.00 \$20.00 \$90.00 \$90.00 \$90.00 \$90.00 \$55.00 \$55.00 \$55,500.00 \$5,500.00 \$5,160.00 AL 	-\$100.00 \$1,830.00 \$6,600.00 \$200.00 \$8,100.00 \$320.00 \$6,240.00 -\$3,900.00 \$110.00 \$2,255.00 \$10,360.00 \$5,160.00	-\$100.00 \$10,000.00 \$25.00 \$32.00 \$32.00 \$1.00 \$1.00 \$100.00 \$5,500.00 \$40.00	-\$100.00 \$3,000.00 \$8,250.00 \$2,880.00 \$1,280.00 \$1,560.00 -\$1,300.00 \$2,255.00 \$5,920.00 \$1,500.00	-\$100.00 \$18,000.00 \$7.00 \$50.00 \$600.00 \$1.00 \$20.00 \$90.00 \$6,600.00 \$25.00	-\$100.00 \$5,400.00 \$2,310.00 \$500.00 \$4,500.00 \$1,560.00 -\$26,000.00 \$180.00 \$2,706.00 \$3,700.00 \$2,500.00	-\$100.00 \$20,000,00 \$20,000 \$50,000 \$50,000 \$4.000 \$4.000 \$100,000 \$6,500,000 \$65,000	-\$100.00 \$6,000.00 \$500.00 \$4,500.00 \$200.00 \$6,240.00 -\$5,200.00 \$2,665.00 \$9,620.00 \$5,000.00	-\$100.00 \$7,000.00 \$30.00 \$70.00 \$85.00 \$104.00 \$3.00 \$4.00 \$70.00 \$5,200.00 \$34.00	-\$100.00 \$2,100.00 \$9,900.00 \$7,650.00 \$416.00 \$4,680.00 -\$5,200.00 \$140.00 \$2,132.00 \$5,032.00 \$5,000.00	-\$100.00 \$1,600.00 \$28.00 \$40.00 \$52.00 \$56.00 \$3.00 \$2.75 \$50.00 \$6,605.00 \$6,605.00	\$1,000. -\$100. \$480. \$9,240. \$4,680. \$224. \$4,680. -\$3,575. \$100. \$2,708. \$9,694. \$5,060. \$34,591. \$2,663.

45	1-09.7	MOBILIZATION	L.S.	1	\$3,800.00	\$3,800.00	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00	\$5,000.00	\$5,000.00	Γ
46	1-05.4	REPLACEMENT STAKING SERVICES	HOUR	1	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	Γ
47	2-01	CLEARING AND GRUBBING	ACRE	0.3	\$6,100.00	\$1,830.00	\$10,000.00	\$3,000.00	\$18,000.00	\$5,400.00	\$20,000.00	\$6,000.00	Γ
48	2-03	ROADWAY EXCAVATION INCL. HAUL	C.Y.	330	\$20.00	\$6,600.00	\$25.00	\$8,250.00	\$7.00	\$2,310.00	\$20.00	\$6,600.00	
49	2-03	COMMON BORROW INCL. HAUL	C.Y.	10	\$20.00	\$200.00	\$20.00	\$200.00	\$50.00	\$500.00	\$50.00	\$500.00	
50	4-04	CRUSHED SURFACING BASE COURSE	C.Y.	90	\$90.00	\$8,100.00	\$32.00	\$2,880.00	\$50.00	\$4,500.00	\$50.00	\$4,500.00	
51	4-04	CRUSHED SURFACING TOP COURSE	C.Y.	4	\$80.00	\$320.00	\$32.00	\$128.00	\$600.00	\$2,400.00	\$50.00	\$200.00	
52	8-01	HIGH VISIBILITY SILT FENCE	L.F.	1560	\$4.00	\$6,240.00	\$1.00	\$1,560.00	\$1.00	\$1,560.00	\$4.00	\$6,240.00	
53	8-01	HIGH VISIBILITY FENCE	L.F.	-1300	\$3.00	-\$3,900.00	\$1.00	-\$1,300.00	\$20.00	-\$26,000.00	\$4.00	-\$5,200.00	
54	8-01	ESC LEAD	DAY	2	\$55.00	\$110.00	\$100.00	\$200.00	\$90.00	\$180.00	\$100.00	\$200.00	
55	8-01	SEEDING AND MULCHING	ACRE	.41	\$5,500.00	\$2,255.00	\$5,500.00	\$2,255.00	\$6,600.00	\$2,706.00	\$6,500.00	\$2,665.00	
56	8-02	TOPSOIL TYPE A	C.Y.	148	\$70.00	\$10,360.00	\$40.00	\$5,920.00	\$25.00	\$3,700.00	\$65.00	\$9,620.00	
57	8-21	PERMANENT SIGNING (CONSERVATION SIGNS)	L.S.	1	\$5,160.00	\$5,160.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	
			SCHEDULE [SUBTOTAL		\$40,975.00		\$29,493.00		\$4,156.00		\$41,225.00	
		WASHINGTO	N STATE SALES	TAX at 7.70%		\$3,155.08		\$2,270.96		\$320.01		\$3,174.33	
			SCHEDU	LE D TOTAL		\$44,130.08		\$31,763.96	-	\$4,476.01		\$44,399.33	

Clark County Public Works - Engineering and Construction Division Clark County, Washington

P	roject Name	: Lower Daybreak Park Trail Improvements			ENGINEER	'S ESTIMATE	BIDD	ER #1	BIDD	ER #2	BIDD	ER #3	BIDD)ER #4	BIDD)ER #5
-		: 0000206 (018285) : November 17, 2020					Nylund, Inc. 14900 NE 271st	Ave	Lee Contractors 20907 NE 72nd		N.W. Construct Contracting, In 22317 NE 72nd	с.	Advanced Exca Specialists, LL 1010 Columbia	c	Thompson Bro Inc. 18211 NE Four	0,
Dia o	pennig Dute						Brush Prairie, V	VA 98606-5812	Battle Ground,	WA 98604-5227	Battle Ground,	WA 98604-4023	Longview, WA	98632-1036	Vancouver, WA	98682-9676
BID ITEM	SPEC.						(360) 44		. ,	23-5295	()	87-2040	()	32-8854	()	54-7056
NO.	SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		0-h-				\$310,165.75		\$234,559.25		\$293,157.50		\$316,335.00		\$331,647.75		\$318,748.25
			edule A + B + C + I					. ,								. ,
			INGTON STATE SALE			\$23,882.76		\$18,061.06		\$22,573.13		\$24,357.80		\$25,536.88		\$24,543.62
			Schedule A + B +		-	\$334,048.51		\$252,620.31		\$315,730.63		\$340,692.80		\$357,184.63		\$343,291.87
SCHEDUL	E E - ADDITI	IVE 3 PRJ #0000206														
58	1-09.7	MOBILIZATION	L.S.	1	\$2,300.00	\$2,300.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$2,500.00	\$2,500.00	\$250.00	\$250.00	\$1,000.00	\$1,000.00
59	1-05.4	REPLACEMENT STAKING SERVICES	HOUF	1	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00
60	4-04	CRUSHED SURFACING TOP COURSE	C.Y.	-50	\$80.00	-\$4,000.00	\$32.00	-\$1,600.00	\$250.00	-\$12,500.00	\$50.00	-\$2,500.00	\$100.00	-\$5,000.00	\$52.00	-\$2,600.00
61	5-04	HMA CL 3/8 IN. PG 58H-22	TON	120	\$120.00	\$14,400.00	\$105.00	\$12,600.00	\$80.00	\$9,600.00	\$110.00	\$13,200.00	\$106.00	\$12,720.00	\$127.00	\$15,240.00
62	5-05	CEMENT CONC. PAVEMENT	C.Y.	10	\$650.00	\$6,500.00	\$300.00	\$3,000.00	\$2,600.00	\$26,000.00	\$200.00	\$2,000.00	\$850.00	\$8,500.00	\$895.00	\$8,950.00
63	8-01	ESC LEAD	DAY	2	\$60.00	\$120.00	\$100.00	\$200.00	\$100.00	\$200.00	\$100.00	\$200.00	\$70.00	\$140.00	\$50.00	\$100.00
64	8	PARK BENCH	EACH	1 2	\$1,200.00	\$2,400.00	\$1,500.00	\$3,000.00	\$1,000.00	\$2,000.00	\$2,500.00	\$5,000.00	\$1,500.00	\$3,000.00	\$2,015.00	\$4,030.00
65	8	TRASH RECEPTICLE AND CAN	EACH	l 1	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,700.00	\$1,700.00	\$1,990.00	\$1,990.00
66	8	SPLIT RAIL FENCE	L.F.	88	\$8.00	\$704.00	\$35.00	\$3,080.00	\$25.00	\$2,200.00	\$50.00	\$4,400.00	\$45.00	\$3,960.00	\$20.05	\$1,764.40
67	8	SEAT WALL BENCH	L.F.	24	\$45.00	\$1,071.00	\$175.00	\$4,165.00	\$150.00	\$3,570.00	\$500.00	\$11,900.00	\$265.00	\$6,307.00	\$660.00	\$15,708.00
			SCHEDUL	E E SUBTOTA	-	\$24,395.00		\$30,845.00		\$35,470.00		\$38,100.00		\$31,477.00		\$46,082.40
		WASH	INGTON STATE SALE	S TAX at 7.70%	6	\$1,878.42	_	\$2,375.06	_	\$2,731.19	_	\$2,933.70		\$2,423.73	-	\$3,548.34
			SCHE	DULE E TOTA	-	\$26,273.42		\$33,220.06		\$38,201.19	-	\$41,033.70		\$33,900.73		\$49,630.74
		Schedule	e A + B + C + D + I	E SUBTOTA	-	\$334,560.75		\$265,404.25		\$328,627.50		\$354,435.00		\$363,124.75		\$364,830.65
		WASH	INGTON STATE SALE	S TAX at 7.70%	^b	\$25,761.18		\$20,436.12	2	\$25,304.32		\$27,291.50		\$27,960.61		\$28,091.96
		Sch	edule A + B + C +	D + E TOTA		\$360,321.93		\$285,840.37		\$353,931.82		\$381,726.50		\$391,085.36		\$392,922.61
		% OVEF	R OR UNDER ENGINE	ERS ESTIMAT	E		-0.206	708362	-0.017	734447	0.059	40401	0.085	377618	0.090	476543

Clark County Public Works - Engineering and Construction Division Clark County, Washington

Pr	oiect Name	: Lower Daybreak Park Trail Improvements			BIDD	ER #6	BIDD	ER #7	BIDD	DER #8	BIDD	ER #9	BIDD	ER #10	BIDD	ER #11	BIDD	ER #12
	-	:: 0000206 (018285)			Nutter Corporat		Tapani, Inc.		Clark and Son'		Keystone Cons		Clackamas Co		Cat Works, LL	C dba Catworks	Paul Brothers,	
-					· ·				Inc.	6 4	-	-			Construction	n Avo		
Bid Op	bening Date	:: November 17, 2020			7211 NE 43rd A Vancouver, WA		1904 SE 6th Pl Battle Ground.	WA 98604-8300	7601 NE 289th Battle Ground.		417 NW 209th S Ridgefield, WA		PO Box 279 Boring, OR 970		3501 Thompso Vancouver, WA		8601 SE Reven Boring, OR 970	
					-	73-2000	-	87-1148		50-7378		87-0868		663-1144	-	66-1113	•	63-1220
BID ITEM NO.	SPEC. SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SCHEDULE	E A - BASE I	BID PRJ #0000206																
1	1-09.7	MOBILIZATION	L.S.	1	\$20,200.43	\$20,200.43	\$22,750.00	\$22,750.00	\$25,000.00	\$25,000.00	\$31,000.00	\$31,000.00	\$63,650.00	\$63,650.00	\$55,000.00	\$55,000.00	\$82,600.00	\$82,600.00
2	1-05.4	REPLACEMENT STAKING SERVICES	HOUR	1	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00
3	1-10	PROJECT TEMPORARY TRAFFIC CONTROL	L.S.	1	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$100.00	\$100.00	\$700.00	\$700.00	\$3,564.00	\$3,564.00	\$2,000.00	\$2,000.00	\$260.00	\$260.00
4	2-01	CLEARING AND GRUBBING	ACRE	0.8	\$1,000.00	\$800.00	\$11,000.00	\$8,800.00	\$11,000.00	\$8,800.00	\$15,000.00	\$12,000.00	\$4,000.00	\$3,200.00	\$18,000.00	\$14,400.00	\$12,900.00	\$10,320.00
5	2-03	ROADWAY EXCAVATION INCL. HAUL	C.Y.	870	\$18.00	\$15,660.00	\$34.00	\$29,580.00	\$35.00	\$30,450.00	\$40.00	\$34,800.00	\$50.00	\$43,500.00	\$70.00	\$60,900.00	\$61.00	\$53,070.00
6	2-03	COMMON BORROW INCL. HAUL	C.Y.	50	\$12.00	\$600.00	\$6.00	\$300.00	\$20.00	\$1,000.00	\$60.00	\$3,000.00	\$166.00	\$8,300.00	\$61.00	\$3,050.00	\$62.00	\$3,100.00
7	4-04	CRUSHED SURFACING BASE COURSE	C.Y.	360	\$90.00	\$32,400.00	\$99.00	\$35,640.00	\$70.00	\$25,200.00	\$75.00	\$27,000.00	\$122.00	\$43,920.00	\$115.00	\$41,400.00	\$155.00	\$55,800.00
8	4-04	CRUSHED SURFACING TOP COURSE	C.Y.	14	\$95.00	\$1,330.00	\$166.00	\$2,324.00	\$150.00	\$2,100.00	\$100.00	\$1,400.00	\$428.00	\$5,992.00	\$95.00	\$1,330.00	\$150.00	\$2,100.00
9	5-04	HMA CL 3/8 IN. PG 58H-22	TON	430	\$110.00	\$47,300.00	\$105.00	\$45,150.00	\$105.00	\$45,150.00	\$115.00	\$49,450.00	\$114.00	\$49,020.00	\$108.00	\$46,440.00	\$126.00	\$54,180.00
10	5-05	CEMENT CONC. PAVEMENT	C.Y.	20	\$1,290.00	\$25,800.00	\$1,300.00	\$26,000.00	\$570.00	\$11,400.00	\$800.00	\$16,000.00	\$840.00	\$16,800.00	\$1,300.00	\$26,000.00	\$1,750.00	\$35,000.00
11	7-02	DUCTILE IRON CULV. PIPE 12 IN. DIAM.	L.F.	70	\$53.00	\$3,710.00	\$100.00	\$7,000.00	\$90.00	\$6,300.00	\$100.00	\$7,000.00	\$148.00	\$10,360.00	\$75.00	\$5,250.00	\$110.00	\$7,700.00
12	8-01	HIGH VISIBILITY SILT FENCE	L.F.	4010	\$2.00	\$8,020.00	\$3.25	\$13,032.50	\$2.50	\$10,025.00	\$4.00	\$16,040.00	\$2.47	\$9,904.70	\$4.00	\$16,040.00	\$3.40	\$13,634.00
13	8-01	HIGH VISIBILITY FENCE	L.F.	2440	\$1.50	\$3,660.00	\$3.00	\$7,320.00	\$2.50	\$6,100.00	\$4.00	\$9,760.00	\$2.60	\$6,344.00	\$3.00	\$7,320.00	\$2.80	\$6,832.00
14	8-01	EROSION CONTROL AND WATER POLLUTION PREVENTION	L.S.	1	\$4,000.00	\$4,000.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$4,400.00	\$4,400.00	\$4,800.00	\$4,800.00	\$9,500.00	\$9,500.00	\$22,700.00	\$22,700.00
15	8-01	STABILIZED CONSTRUCTION ENTRANCE	S.Y.	74	\$35.00	\$2,590.00	\$55.00	\$4,070.00	\$50.00	\$3,700.00	\$25.00	\$1,850.00	\$64.00	\$4,736.00	\$100.00	\$7,400.00	\$81.00	\$5,994.00
16	8-01	ESC LEAD	DAY	14	\$60.00	\$840.00	\$25.00	\$350.00	\$85.00	\$1,190.00	\$100.00	\$1,400.00	\$228.00	\$3,192.00	\$100.00	\$1,400.00	\$140.00	\$1,960.00
17	8-01	CHECK DAM	L.F.	25	\$8.00	\$200.00	\$15.00	\$375.00	\$40.00	\$1,000.00	\$10.00	\$250.00	\$50.00	\$1,250.00	\$20.00	\$500.00	\$20.00	\$500.00
18	8-01	WATTLE	L.F.	45	\$3.00	\$135.00	\$5.00	\$225.00	\$18.00	\$810.00	\$6.00	\$270.00	\$6.00	\$270.00	\$3.00	\$135.00	\$5.00	\$225.00
19	8-02	SEEDING AND MULCHING	ACRE	0.99	\$8,500.00	\$8,415.00	\$5,500.00	\$5,445.00	\$7,500.00	\$7,425.00	\$4,000.00	\$3,960.00	\$6,445.00	\$6,380.55	\$6,200.00	\$6,138.00	\$5,400.00	\$5,346.00
20	8-02	SEEDING AND MULCHING (OLD TRAIL)	ACRE	0.21	\$5,500.00	\$1,155.00	\$5,500.00	\$1,155.00	\$9,500.00	\$1,995.00	\$6,000.00	\$1,260.00	\$6,445.00	\$1,353.45	\$19,000.00	\$3,990.00	\$11,300.00	\$2,373.00
21	8-02	TOPSOIL TYPE A	C.Y.	252	\$60.00	\$15,120.00	\$48.00	\$12,096.00	\$60.00	\$15,120.00	\$50.00	\$12,600.00	\$65.00	\$16,380.00	\$68.00	\$17,136.00	\$60.00	\$15,120.00
22	8-12	WIRE FENCE TYPE TRAILHEAD	L.F.	44	\$30.00	\$1,320.00	\$40.00	\$1,760.00	\$50.00	\$2,200.00	\$40.00	\$1,760.00	\$56.00	\$2,464.00	\$52.00	\$2,288.00	\$56.00	\$2,464.00
23	8-21	PERMANENT SIGNING (CONSERVATION SIGNS)	L.S.	1	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$6,500.00	\$6,500.00	\$4,500.00	\$4,500.00	\$1,225.00	\$1,225.00	\$3,600.00	\$3,600.00	\$7,700.00	\$7,700.00
24	8-22	REMOVING PAINT LINE	L.F.	80	\$10.00	\$800.00	\$6.00	\$480.00	\$35.00	\$2,800.00	\$5.00	\$400.00	\$27.00	\$2,160.00	\$6.00	\$480.00	\$12.00	\$960.00
25	8	PARK BENCH	EACH	2	\$1,900.00	\$3,800.00	\$1,550.00	\$3,100.00	\$4,000.00	\$8,000.00	\$2,500.00	\$5,000.00	\$2,050.00	\$4,100.00	\$1,500.00	\$3,000.00	\$2,750.00	\$5,500.00
26	8	TRASH RECEPTACLE AND CAN	EACH	1	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,900.00	\$1,900.00	\$2,000.00	\$2,000.00	\$1,430.00	\$1,430.00	\$1,000.00	\$1,000.00	\$1,650.00	\$1,650.00
27	8	PICNIC TABLE	EACH	4	\$3,500.00	\$14,000.00	\$2,000.00	\$8,000.00	\$3,500.00	\$14,000.00	\$4,500.00	\$18,000.00	\$3,250.00	\$13,000.00	\$2,200.00	\$8,800.00	\$2,720.00	\$10,880.00
28	8	SPLIT RAIL FENCE	L.F.	132	\$19.00	\$2,508.00	\$19.00	\$2,508.00	\$40.00	\$5,280.00	\$25.00	\$3,300.00	\$78.00	\$10,296.00	\$50.00	\$6,600.00	\$45.00	\$5,940.00
29	8	SEAT WALL BENCH	L.F.	28.75	\$750.00	\$21,562.50	\$630.00	\$18,112.50	\$450.00	\$12,937.50	\$800.00	\$23,000.00	\$325.00	\$9,343.75	\$185.00	\$5,318.75	\$515.00	\$14,806.25
30	8.00	REMOVABLE BOLLARD	EACH	1	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00	\$1,800.00	\$1,800.00	\$1,000.00	\$1,000.00	\$1,365.00	\$1,365.00	\$1,200.00	\$1,200.00	\$2,300.00	\$2,300.00
			SCHEDULE	A SUBTOTAL		\$243,025.93		\$262,473.00		\$263,182.50		\$293,000.00		\$348,200.45		\$357,515.75		\$430,914.25
		WASHINGTON ST	ATE SALES	TAX at 7.70%		\$18,713.00		\$20,210.42		\$20,265.05		\$22,561.00		\$26,811.43		\$27,528.71		\$33,180.40
			SCHEDU	JLE A TOTAL		\$261,738.93		\$282,683.42		\$283,447.55		\$315,561.00		\$375,011.88		\$385,044.46		\$464,094.65
SCHEDUI		RID #4019295																

SCHEDU	LE B - BASE	E BID #A018285																
31	8-12	WIRE FENCE TYPE PROPERTY LINE	L.F.	450	\$18.00	\$8,100.00	\$18.00	\$8,100.00	\$10.00	\$4,500.00	\$15.00	\$6,750.00	\$45.00	\$20,250.00	\$11.00	\$4,950.00	\$12.00	\$5,400.00
32	8	PARK RULE SIGN	EACH	1	\$1,000.00	\$1,000.00	\$3,200.00	\$3,200.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$1,700.00	\$1,700.00	\$2,800.00	\$2,800.00	\$2,750.00	\$2,750.00
33	8	INTERPRETIVE SIGN	EACH	3	\$900.00	\$2,700.00	\$2,200.00	\$6,600.00	\$2,500.00	\$7,500.00	\$2,000.00	\$6,000.00	\$1,700.00	\$5,100.00	\$2,500.00	\$7,500.00	\$2,000.00	\$6,000.00
			SCHEDULE	B SUBTOTAL		\$11,800.00		\$17,900.00		\$14,500.00	· · · · · ·	\$14,750.00		\$27,050.00		\$15,250.00	· · · · · ·	\$14,150.00
			WASHINGTON STATE SALES	5 TAX at 7.70%	,	\$908.60		\$1,378.30		\$1,116.50		\$1,135.75		\$2,082.85		\$1,174.25		\$1,089.55
			SCHED	ULE B TOTAL		\$12,708.60		\$19,278.30	-	\$15,616.50	_	\$15,885.75	-	\$29,132.85	_	\$16,424.25		\$15,239.55

Clark County Public Works - Engineering and Construction Division Clark County, Washington

P	oject Name	e: Lower Daybreak Park Trail Improvements				BIDDE	R #6	BIDDI	ER #7	BIDDE	ER #8	BIDDE	R #9	BIDDE	R #10	BIDDE	R #11	BIDDE	R #12
Proi	ect Number	r: 0000206 (018285)				Nutter Corporati	on	Tapani, Inc.		Clark and Son's	Excavating,	Keystone Const	racting, Inc.	Clackamas Con	struction, Inc.	Cat Works, LLC	dba Catworks	Paul Brothers, Ir	nc.
-		e: November 17, 2020				7211 NE 43rd Av	e STE A	1904 SE 6th PI		Inc. 7601 NE 289th S	it	417 NW 209th St		PO Box 279		Construction 3501 Thompson	Ave	8601 SE Revenu	e Rd
	5					Vancouver, WA 9				Battle Ground, V		Ridgefield, WA 9		Boring, OR 9700		Vancouver, WA		Boring, OR 9700	
						(360) 57	3-2000	(360) 68	37-1148	(360) 45	60-7378	(360) 88	7-0868	(503) 66	53-1144	(360) 66	6-1113	(503) 66	3-1220
BID ITEM NO.	SPEC. SECTION	DESCRIPTION		UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
						_		_		_		_		_		_		_	
			BASE BID (Schedule	e A + B) S	UBTOTAL		\$254,825.93	;	\$280,373.00		\$277,682.50		\$307,750.00		\$375,250.45		\$372,765.75		\$445,064.25
			WASHINGTON STAT	TE SALES T	AX at 7.70%		\$19,621.60		\$21,588.72		\$21,381.55		\$23,696.75		\$28,894.28		\$28,702.96		\$34,269.95
			BASE BID (Sche	edule A +	B) TOTAL		\$274,447.53		\$301,961.72		\$299,064.05		\$331,446.75		\$404,144.73		\$401,468.71		\$479,334.20
						-													
SCHEDULI	C - ADDIT	TIVE 1 PRJ #0000206																	
		1			1			ļ											
34	1-09.7	MOBILIZATION		L.S.	1	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00	\$11,000.00	\$11,000.00	\$8,600.00	\$8,600.00	\$9,000.00	\$9,000.00	\$14,300.00	\$14,300.00
35	1-05.4	REPLACEMENT STAKING SERVICES		HOUR	1	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00
36	2-01	CLEARING AND GRUBBING		ACRE	0.3	\$1,000.00	\$300.00		\$3,300.00	\$20,000.00	\$6,000.00	\$15,000.00	\$4,500.00	\$9,000.00	\$2,700.00	\$17,000.00	\$5,100.00	\$12,900.00	\$3,870.00
37	2-03	ROADWAY EXCAVATION INCL. HAUL		C.Y.	220	\$18.00	\$3,960.00	\$34.00	\$7,480.00	\$35.00	\$7,700.00	\$40.00	\$8,800.00	\$74.00	\$16,280.00	\$70.00	\$15,400.00	\$61.00	\$13,420.00
38	4-04	CRUSHED SURFACING BASE COURSE		C.Y.	100	\$105.00	\$10,500.00	\$99.00	\$9,900.00	\$75.00	\$7,500.00	\$60.00	\$6,000.00	\$150.00	\$15,000.00	\$115.00	\$11,500.00	\$165.00	\$16,500.00
39	4-04	CRUSHED SURFACING TOP COURSE		C.Y.	50	\$100.00	\$5,000.00	\$166.00	\$8,300.00	\$112.00	\$5,600.00	\$75.00	\$3,750.00	\$154.00	\$7,700.00	\$95.00	\$4,750.00	\$150.00	\$7,500.00
40	8-01	HIGH VISIBILITY SILT FENCE		L.F.	890	\$2.00	\$1,780.00	\$3.25	\$2,892.50	\$3.50	\$3,115.00	\$4.00	\$3,560.00	\$4.00	\$3,560.00	\$4.00	\$3,560.00	\$3.40	\$3,026.00
41	8-01	HIGH VISIBILITY FENCE		L.F.	600	\$1.50	\$900.00	\$3.00	\$1,800.00	\$3.50	\$2,100.00	\$4.00	\$2,400.00	\$5.50	\$3,300.00	\$3.00	\$1,800.00	\$2.80	\$1,680.00
42	8-01	ESC LEAD		DAY	2	\$60.00	\$120.00	\$25.00	\$50.00	\$85.00	\$170.00	\$200.00	\$400.00	\$225.00	\$450.00	\$100.00	\$200.00	\$140.00	\$280.00
43	8-01	SEEDING AND MULCHING		ACRE	.14	\$10,000.00	\$1,400.00	\$7,000.00	\$980.00	\$6,000.00	\$840.00	\$6,000.00	\$840.00	\$6,550.00	\$917.00	\$6,200.00	\$868.00	\$15,000.00	\$2,100.00
44	8-02	TOPSOIL TYPE A		C.Y.	54	\$60.00	\$3,240.00	\$48.00	\$2,592.00	\$60.00	\$3,240.00	\$60.00	\$3,240.00	\$65.00	\$3,510.00	\$68.00	\$3,672.00	\$60.00	\$3,240.00
					SUBTOTAL		\$30,100.00		\$38,194.50		\$40,165.00		\$44,390.00		\$61,917.00		\$55,750.00		\$65,816.00
			WASHINGTON STAT				\$2,317.70		\$2,940.98		\$3,092.71	_	\$3,418.03	- 1	\$4,767.61		\$4,292.75		\$5,067.83
				SCHEDU	LE C TOTAL		\$32,417.70		\$41,135.48		\$43,257.71		\$47,808.03		\$66,684.61		\$60,042.75		\$70,883.83
			Schedule A				\$284,925.93		\$318,567.50		\$317,847.50		\$352,140.00		\$437,167.45		\$428,515.75		\$510,880.25
			WASHINGTON STAT				\$21,939.30		\$24,529.70		\$24,474.26		\$27,114.78		\$33,661.89		\$32,995.71		\$39,337.78
			Schedu	ıle A + B +	C TOTAL		\$306,865.23		\$343,097.20		\$342,321.76		\$379,254.78		\$470,829.34		\$461,511.46		\$550,218.03
SCHEDU																			
SCHEDULI		TIVE 2 PRJ #0000206																	
45	1-09.7	MOBILIZATION		L.S.	4	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$11,700.00	\$11,700.00	\$9,000.00	\$9,000.00	\$2,400.00	\$2,400.00
45	1-09.7	REPLACEMENT STAKING SERVICES	I	L.S. HOUR		-\$100.00	-\$100.00		-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00		-\$100.00	-\$100.00	-\$100.00

SCHEDULE	d - additi	VE 2 PRJ #0000206																
45	1-09.7	MOBILIZATION	L.S.	1	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$11,700.00	\$11,700.00	\$9,000.00	\$9,000.00	\$2,400.00	\$2,400.00
46	1-05.4	REPLACEMENT STAKING SERVICES	HOUR	1	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00
47	2-01	CLEARING AND GRUBBING	ACRE	0.3	\$1,000.00	\$300.00	\$11,000.00	\$3,300.00	\$17,000.00	\$5,100.00	\$15,000.00	\$4,500.00	\$7,833.00	\$2,349.90	\$14,500.00	\$4,350.00	\$12,900.00	\$3,870.00
48	2-03	ROADWAY EXCAVATION INCL. HAUL	C.Y.	330	\$18.00	\$5,940.00	\$34.00	\$11,220.00	\$35.00	\$11,550.00	\$40.00	\$13,200.00	\$31.50	\$10,395.00	\$70.00	\$23,100.00	\$61.00	\$20,130.00
49	2-03	COMMON BORROW INCL. HAUL	C.Y.	10	\$12.00	\$120.00	\$6.00	\$60.00	\$20.00	\$200.00	\$70.00	\$700.00	\$140.00	\$1,400.00	\$61.00	\$610.00	\$75.00	\$750.00
50	4-04	CRUSHED SURFACING BASE COURSE	C.Y.	90	\$180.00	\$16,200.00	\$99.00	\$8,910.00	\$85.00	\$7,650.00	\$75.00	\$6,750.00	\$112.00	\$10,080.00	\$110.00	\$9,900.00	\$200.00	\$18,000.00
51	4-04	CRUSHED SURFACING TOP COURSE	C.Y.	4	\$200.00	\$800.00	\$166.00	\$664.00	\$120.00	\$480.00	\$120.00	\$480.00	\$187.00	\$748.00	\$90.00	\$360.00	\$220.00	\$880.00
52	8-01	HIGH VISIBILITY SILT FENCE	L.F.	1560	\$2.00	\$3,120.00	\$3.25	\$5,070.00	\$3.50	\$5,460.00	\$4.00	\$6,240.00	\$3.00	\$4,680.00	\$4.00	\$6,240.00	\$3.40	\$5,304.00
53	8-01	HIGH VISIBILITY FENCE	L.F.	-1300	\$1.50	-\$1,950.00	\$3.00	-\$3,900.00	\$3.50	-\$4,550.00	\$3.00	-\$3,900.00	\$2.40	-\$3,120.00	\$3.00	-\$3,900.00	\$2.80	-\$3,640.00
54	8-01	ESC LEAD	DAY	2	\$60.00	\$120.00	\$25.00	\$50.00	\$85.00	\$170.00	\$200.00	\$400.00	\$225.00	\$450.00	\$100.00	\$200.00	\$140.00	\$280.00
55	8-01	SEEDING AND MULCHING	ACRE	.41	\$8,500.00	\$3,485.00	\$5,500.00	\$2,255.00	\$4,800.00	\$1,968.00	\$6,000.00	\$2,460.00	\$6,550.00	\$2,685.50	\$6,200.00	\$2,542.00	\$7,450.00	\$3,054.50
56	8-02	TOPSOIL TYPE A	C.Y.	148	\$60.00	\$8,880.00	\$48.00	\$7,104.00	\$62.00	\$9,176.00	\$50.00	\$7,400.00	\$65.00	\$9,620.00	\$68.00	\$10,064.00	\$60.00	\$8,880.00
57	8-21	PERMANENT SIGNING (CONSERVATION SIGNS)	L.S.	1	\$2,500.00	\$2,500.00	\$3,800.00	\$3,800.00	\$7,500.00	\$7,500.00	\$2,500.00	\$2,500.00	\$1,155.00	\$1,155.00	\$3,300.00	\$3,300.00	\$6,125.00	\$6,125.00
			SCHEDULE D	SUBTOTAL		\$43,415.00		\$39,433.00		\$49,604.00		\$42,630.00		\$52,043.40		\$65,666.00		\$65,933.50
		WASHINGTON ST	ATE SALES	AX at 7.70%		\$3,342.96		\$3,036.34		\$3,819.51	_	\$3,282.51		\$4,007.34		\$5,056.28		\$5,076.88
			SCHEDU	LE D TOTAL		\$46,757.96		\$42,469.34		\$53,423.51		\$45,912.51		\$56,050.74		\$70,722.28		\$71,010.38

Clark County Public Works - Engineering and Construction Division Clark County, Washington

I	Project Name	e: Lower Daybreak Park Trail Improvements				BIDD	ER #6	BIDD	ER #7	BIDD	ER #8	BIDDI	ER #9	BIDD	ER #10	BIDDI	ER #11	BIDDE	R #12
Pro	ject Numbe	er: 0000206 (018285)				Nutter Corporat	tion	Tapani, Inc.		Clark and Son's	s Excavating,	Keystone Const	racting, Inc.	Clackamas Cor	nstruction, Inc.	Cat Works, LLC Construction	dba Catworks	Paul Brothers, I	nc.
Bid 0	pening Date	e: November 17, 2020				7211 NE 43rd A	ve STE A	1904 SE 6th Pl		7601 NE 289th	St	417 NW 209th S	t.	PO Box 279		3501 Thompson	n Ave	8601 SE Reveni	ue Rd
	1 3					Vancouver, WA						Ridgefield, WA		Boring, OR 970		Vancouver, WA		Boring, OR 970	
						(360) 5	73-2000	(360) 6	87-1148	(360) 4	50-7378	(360) 88	37-0868	(503) 6	63-1144	(360) 6	66-1113	(503) 6	63-1220
BID ITEM NO.	SPEC. SECTION	DESCRIPTION		UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
			Schedule A + B +	+ C + D S	UBTOTAL		\$328,340.93		\$358,000.50		\$367,451.50		\$394,770.00		\$489,210.85		\$494,181.75		\$576,813.75
			WASHINGTON STAT	E SALES T	AX at 7.70%		\$25,282.25		\$27,566.04		\$28,293.77		\$30,397.29		\$37,669.24		\$38,051.99		\$44,414.66
			Schedule A	+ B + C +	D TOTAL		\$353,623.18		\$385,566.54		\$395,745.27		\$425,167.29		\$526,880.09		\$532,233.74		\$621,228.41
SCHEDU	E E - ADDIT	TIVE 3 PRJ #0000206																	
	1				1														
58	1-09.7	MOBILIZATION		L.S.	1	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00	\$7,000.00	\$7,000.00	\$6,800.00	\$6,800.00	\$9,000.00	\$9,000.00	\$1,700.00	\$1,700.00
59	1-05.4	REPLACEMENT STAKING SERVICES		HOUR	1	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00	-\$100.00
60	4-04	CRUSHED SURFACING TOP COURSE		C.Y.	-50	\$80.00	-\$4,000.00	\$166.00	-\$8,300.00	\$85.00	-\$4,250.00	\$50.00	-\$2,500.00	\$124.00	-\$6,200.00	\$95.00	-\$4,750.00	\$165.00	-\$8,250.00
61	5-04	HMA CL 3/8 IN. PG 58H-22		TON	120	\$110.00	\$13,200.00	\$105.00	\$12,600.00	\$105.00	\$12,600.00	\$125.00	\$15,000.00	\$109.00	\$13,080.00	\$108.00	\$12,960.00	\$120.00	\$14,400.00
62	5-05	CEMENT CONC. PAVEMENT		C.Y.	10	\$1,290.00	\$12,900.00	\$1,400.00	\$14,000.00	\$850.00	\$8,500.00	\$800.00	\$8,000.00	\$790.00	\$7,900.00	\$1,300.00	\$13,000.00	\$1,700.00	\$17,000.00
63	8-01	ESC LEAD		DAY	2	\$60.00	\$120.00	\$25.00	\$50.00	\$85.00	\$170.00	\$200.00	\$400.00	\$225.00	\$450.00	\$100.00	\$200.00	\$140.00	\$280.00
64	8	PARK BENCH		EACH	2	\$1,900.00	\$3,800.00	\$1,550.00	\$3,100.00	\$4,000.00	\$8,000.00	\$2,000.00	\$4,000.00	\$2,010.00	\$4,020.00	\$1,500.00	\$3,000.00	\$2,750.00	\$5,500.00
65	8	TRASH RECEPTICLE AND CAN		EACH	1	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$1,650.00	\$1,650.00
66	8	SPLIT RAIL FENCE		L.F.	88	\$19.00	\$1,672.00	\$19.00	\$1,672.00	\$50.00	\$4,400.00	\$25.00	\$2,200.00	\$80.00	\$7,040.00	\$50.00	\$4,400.00	\$54.00	\$4,752.00
67	8	SEAT WALL BENCH		L.F.	24	\$750.00	\$17,850.00	\$630.00	\$14,994.00	\$525.00	\$12,495.00	\$800.00	\$19,040.00	\$336.00	\$7,996.80	\$185.00	\$4,403.00	\$515.00	\$12,257.00
			SC	HEDULE E	SUBTOTAL		\$50,442.00		\$40,516.00		\$47,615.00		\$55,040.00		\$42,486.80		\$43,113.00		\$49,189.00
			WASHINGTON STAT	E SALES T	AX at 7.70%	_	\$3,884.03	-	\$3,119.73	-	\$3,666.36	_	\$4,238.08	-	\$3,271.48	_	\$3,319.70	_	\$3,787.55
				SCHEDU	LE E TOTAL		\$54,326.03		\$43,635.73		\$51,281.36		\$59,278.08		\$45,758.28		\$46,432.70		\$52,976.55
			Schedule A + B + C +	+ D + E S	UBTOTAL		\$378,782.93		\$398,516.50		\$415,066.50		\$449,810.00		\$531,697.65		\$537,294.75		\$626,002.75
			WASHINGTON STAT	E SALES T	AX at 7.70%		\$29,166.29		\$30,685.77		\$31,960.12		\$34,635.37		\$40,940.72		\$41,371.70		\$48,202.21
			Schedule A + B	+ C + D +	E TOTAL		\$407,949.22		\$429,202.27		\$447,026.62		\$484,445.37		\$572,638.37		\$578,666.45		\$674,204.96
			% OVER OR UNDER E	ENGINEER	S ESTIMATE	0.1321	179821	0.191	163339	0.240	631186	0.3444	79291	0.617	934135	0.6059	970665	0.9049	000685